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Time : 2:00 Hrs. Max. Marks : 35

Note :— This paper is of Thirty Five (35) marks divided
into Two (02) Sections ‘A’ and ‘B’. Attempt the
questions contained in these Sections according to
the detailed instructions given therein. Candidates
should limit their answers to the questions on the
given answer sheet. No additional (B) answer

sheet will be issued.
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Section-A
(@Us—h)
Long Answer Type Questions
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Note :— Section ‘A’ contains Five (05) Long-answer
type questions of Nine and Half (9%2) marks each.
Learners are required to answer any two (02)
questions only.
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1. Discuss in detail Carrot cycle and Carnot theorem.
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2. Establish the Classius- Clayperon’s equation from

Carnot’s cycle :
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And explain the effect of pressure on (i) boiling point
of liquid and (ii) melting point of a solid.
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3. What do you understand by Gibb’s paradox ? Elaborate
the suitable correction to eliminate this paradox.
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4. What is Maxwell-Boltzmann statistics ? Derive
Maxwell-Boltzmann distribution law and partition
function.
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5. What is the Wien’s displacement law ? Deduce it
thermodynamically.
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Section-B
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Short Answer Type Questions
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Note :— Section ‘B’ contains Eight (08) Short-answer type
questions of Four (04) marks each. Learners are
required to answer any four (04) questions only.
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1. State and explain Zeroth law of thermodynamics and
thermal equilibrium. On the basis of it introduce the

concept of temperature.
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2. Show that during a reversible adiabatic process the
entropy of the system remain constant.
TRATT T Ik TgIoH Ufshan § Ferm o6t Tt frara
Tt B

A-579/BSCPH-201 (4)



3.  Explain reversible and irreversible processes with

examples.
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4. What is phase transition ? Discuss the classification

of phase transition with examples.
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5. Define the Helmholtz function and for an isochoric

process establish the relation :
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6. State and prove the Boltzmann’s relation between

entropy and probability.
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Deduce Rayleigh — Jeans law from Planck’s law.
e & w9 e - S fa & gt s

8. What is partition function ? Explain its physical

significance in statistical mechanics.
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